Chapter 1

Read the following passage. Then fill in the diagram with the information that you read. EEEED

Invasive Speties 7 L e

Invasive species are plants or animals that come into an area and  species:

threaten to kil or drive out the local speces. S e
The first characteristic of an invasive species 1S that t does not  anciher

naturally occur n the area. In other words, it is not part of a noma Seosystem:

acosystem but imvaders fom an outsice area In many cases, the irvashve  nanama

specias s brought in by humans. The Russian diive tree, for instance, now continent: .

thveaters the forests of North America. People Lsing 1 for landscaping 0% Covtimous posa o

brought the species to the continent from Europe. After it wasintroduced,  native:

. the Russian olive, well-suted to its new environment, overwhelmed =~ @&Sngnetsaly inan

nearby natural environments.
Invasive species are also defined by the way they upset an s substanos that scts os

ecosystem. When particular Species are put nto an area, they nvadg 00 1o 3 animal o ptant

the habitats of, and even kill, nalive species. Asian clams, for nstance,

were introduced to the coast of the Americas. In these areas, they have

no naturad predators. They also reproduce quickly. As a result, Asian

clams are threatening to overtake many coastal areas. They do so by

taking over the space and usng the nutrients that local species would

nermally use, Clams consume plankton for nutrients—the same foods

that many smaller fish eat. Thus, lacking nutrients, mary fish species

have died in areas invadad by the clams.

| Invasive Speces
 Topic: Feature 1: | ‘Bample:
: / —” '
Feature 2: | Exampis:
™ i |
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1. How does an mwvasive gpeces differ rom a

native species, acoording 1o paragraph 27

{A) It is more suitad to kve in an
anyironmant than native spacias.

{B) it requires a differant sat of nutriants
than the nativa species.

{C} 1 & introduced from cutside of the
nemal environment.

(D) 't does not contritwte to the heath of
the acosystem.

According to paragraph 2, how did 1he

Russian oive spacies first agpear in North

America?

(A} Its seeds were mestakanly planted by
expiorers.

(B) It was used to landscape areas by
humans.

iC) It was brought from America to Europs
by humans,

(D) It evolved from rative specias in North
Armenca.

3. How do inveaive species threaten local

speces, according to paragraph 37

(A) They reproduce more quckly than
predators in an area.

(8] They crowd out the natural predators in
an arsa,

{C) They fead upon a specific native species
and use them for nutrients,

10} They take spece and nutients from
local species.
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Fill in the blanks to complete the summary.

Pants and animais transported from a different often threaten local
environments. They are considered an invasive because they upset the
normal ecosystem. Soma may reproduce fast, thus ivading the spaceofthe
speciss, When this happens, local species are deprived of needed 1o survive,
Russian olive trees and Aslan clams are examples of invasive species.
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Chapter 1

04 Fine Arts

Ansel Adams _—

Read the following passage. Then fill in the diagram with the information that you read. (EZIER

Arsel Adams was an American photographer that ived ¥om 1902

unti 1984, He is best known for his many photographs of the American
West. Some of his many contributicns to landscape photography
become apparent through an examination of the two major stages of his
career.
Adams’s early career was defined by pictorigism—an effort to make
photographs lock more pleasing by changing their appearances. Adams
was inspred by the Imoressionist movemnent in panting. Such painters
attempted 10 use extramely vvid coicrs that often mixed together in
unexpacted ways. This created a somewhat blurry appearance. Adams
strove for similar affects. Though photography was limitad to black and
white, photographs were often altered after devaicpment to make them
appear more artistic. Cne such techinique, soft focus, alters the focus of
the camera to make the subject of the photograph appear sfightly
blurred. This achieved an efiect smilar to Impressionist painting. During
this period, he created a photograph titled “Monolith.” A photograph of
a rock formation n the Sierra Nevada mountains of Calforna, "Monolith”
used a red ens fiter that made the sky appeer black.

During Adams’s later career, he abandoned many of his pictorialist
leanings when he joined & group of photographers caled Group 1/64.
Thus group encouraged “pure” photography. Rather than struggling to
imitate other art forms, they wanted photography to be presentad without
any alteration. In addition, they streesad that photography should have
no technique. It should, thus, be simply a way t0 capture and represent
a moment n trme. Adams’s photegrachy during this period s also his
maost famous. Perhaps his most famous photegraph is of the moon rising
above a smal vilage in New Mexico. This phatograph, rather than
attempting to make the scene more beautiful through artistic alterations,
simply captures the natural beauty of the moment,
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Stage 1 Stage 2:

Explanation: Explanation:
1. According to paragraph 2, which of the 3. How did Group /64 affect Anss! Adams's
following is a quaity of Impressionism? photography style?
(A) Alering artwork after it is finished (A) It taught him 1o leave hss photographs
(B} Mixing colors in unusual ways unchanged.
(C} Limiting color use to black and white B} It encouraged him 1o photograph
(D) Changing the colors of objects in landscapes.
nature (C) It provided hm with new daveloping
technigues.,
D) It demonstrated the importance of
2. Why dd pictoralst photographers use artistic filters.
varnious lenses o alter ther work?

(A} Te make photographs appear realistic
(B) To blur the photograph's background
(C) To change the color of & photograph
(D) To make photograph davelopment easier

Fill in the blanks to complete the summary.

B e . - —— D e e e L

In his early carear, Ansd Adams would his photographs for more appeeal.
His Inspiration carre from Impressionist artistswhoused _____ oolers in ther
paintings. In later years, heabandoned his _____ toward imitating other art forms. He
joredagroupthat __ topresent pure, unaltered phatogrephy, His photography
during this time s considered ta be his best work,
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Environmental Science

Read the following passage. Then fill in the diagram with the information that you read. SN
Shifting Jet Streams R

Jet streams are strong winds that blow at high aftitudes and are ~ #itiude:
responsile for weather paliens around the workd, New réSearch o cas vl haght
suggests that jet streams are moving toward the poles, which will have  poles:
dramatic effects on the Farth's weather. 1o orurndet and

The first effect of the jet stroams' shift toward the poles will be @ Fam
heightening cf the severity of storms. Hurricanes, for Instance, are often  heightening:
ket from forming by the high winds of the jet streams. A large amount e
of moisture in a small area is necessary for a humicana 1o form. By 1o pewont something #om
censtartly moving air, jet streams froquently thwart the formation of  occwig
huricanes. As jet streams move away from the equator, where  pierei
hurricanes most often form, it is likely that huricanes will become more
frequant and more severe.

The shift in jot streams will also cause many areas near the equator
to become drier. Jet sireams cany waler that evaporates off of the
ocean onto land. This moisture then forms into clouds and falls onto the
tand n the form of precipitation, Since jet streams are moving away from
regions aleng the equator, 1t is thought that these areas will receive less
moisture. As some are already rather dry, this coud cause severe
droughts for many areas.

Shiftng Jet Streams

Cause: Effect 1:

\ Effect 2:
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1. Al of the following are rasults of the shift of
W) A longer tropical rany season
8] More frequent humcanes
(C) Drer weather near the equator
D) Mora severs hurricanes

2. According to the passage, al of the

following are true of jat straams EXCEPT;

(A) They exist at high altitudes.

(B} They pravent many storms from
forming.

(C) They keep mountainous regons drier,

[O) They move moisture toward land
masses.

Fill in the blanks to complete the summary.

3.

According 1o the passage, all of the

folowing are true cf jet streams EXCEPT;

(Al The prasence of jet streams increases
the severity of stcems.

B} Jat streams encourage precpitation on
land.

{C) The presence of jet streams changes
storm pattems.

(O Jet streams appear to be moving away
from the equator,

Winds blowing at a high account for the warld's weather pattems. These
wingds, called jet streams, ara shifting, and their absence is the sevesity of

storms, Jet sireams are important because thay
Also, they carry water that

the formation of humicanes.

__over the ocean and falis onto areas of dry lend. I

the jet streams shift, these areas could experience severa droughts. Tha shift of jet streems to

the poles will be very harmful,
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Chapter 2

The Industrial Revolution was a period of ntense and dramatic  finished goads:
change. As technology reached a more acvanced level, several o rdl e e
countries n the 19™ century began constructing factonies, Although — meuducts from me maseials
factones were abis to produce fnished goods at a very high rate, they  flock:

5}
neaded hundreds of workars 1o function. As a resut, the Industrial xﬂ\tww
Revolution led 1o a number of sosial changes. eed o weried mons thun
The most noticeable change brought on by the Industrial Revolution ™™ "%

was the shift in population. Prior 10 factores being built, thee was very ey guar
ittie work in cities for members of the lower class. Most people lived in

the country, where they farmed small peeces of land. Over three-fourths

o1 Briain's popuiation lived this way before the industina Revolution. The
construction of faciories, however, created a largs demand for workers

n the cities, Thus, many people flocked 1o the cily in hopes of making

mora money. In this way, the Industrial Revolution is responsible for

modiern ciles becoming huge popuation centers.

The Industrial Revolution alsa changed attiudes toward women. In
the past, women were rarely allowed to work on farms; instead, they
stayed at home and tendad to the family. Labor in factonies, however,
was viewed differently. Women were allowed to work in factores, In fact,
women were actually favored in some cases because thay would often
wirk for lower wages. This change in women's roles was a key part in
helping women gain mors rights, such as the right to vote. The Industrial
Revolution Is thus seen as playing a profound role in the evoiution of
wormen's rights.

The Industrial Revolution

\ Effect 2:
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1. Which of the following s NOT true about

the effects of the industrial Revolution cn
population?

(A} Cities grew larger,

(B) Lower dasses worked n factories.
(C} Many pecple moved 1o rural arcas.
(D) Factories increased avaiable jobs,

Al of the foliowing are true ¢f the Industrial

Revolution’s impact on women EXCEPT:

(N It led some factory owners to prefer
women because they could be paid
less,

(B} It resulted in women reosving lower
wages than they did in the country.

(C) It s sean as a stapping stona for
women gaining other rights.

(D) It changed people's feelings on allowing
wormen to work outside of the home,

Fill in the blanks to complete the summary.
The Industrial Revolution hada

factories wera built, pecpie

. Which of the following is NOT true of the

Industrial Revolution, according to the

passage?

{A) It forced people 1o accept lower pay for
dong more work.

({B) I started with the construction of
{aciores.

(C) N encouraged people to move into the
city.

(D) 1t began during the 197 century.

affact on several 190 century countries.
Subsecuently, pacple who had been farmers now could work in a

. As more

to cties looking for work. Women worked for lower

wages, therefore, they weremone __ than men. The Industrial Revolution is

responsible for the growth of mejor Gities today.
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Health

Read the following passage. Then fill in the diagram with the information that you read.

The Healing Benefits of Aromatherapy

Aromatherapy uses scents from many plants to aki both the bedy
énd the mind, For years, sclentists have debatad the scientific merit of
aromatherapy. Recently, a numbar of studies have shown that
aromatherapy doss have medical benefits,

Many of the substances—called essential ois—used to produce
scents have been shown in studies to affect the body. Parhaps the most
surprising find was the abifity of a number of oils to fight viruses, The
herpes smplex virus 1S common in humans and can lead to infections,
sores, and even some forms of cancer. A number of oils, including
sandawood ol and peppermint all, were found to be efiective in fighting
the virus. Scientists believe that chemicals within the oils can destroy the
cells of the virus without hanming healthy cels.

More commonly, essential ods are used to help thosa with emotional
problems. Scientsts have bagun research into aromatherapy’s uses in
anxiety disorders. In one study, mice were placed into high-stress
situations. The scientists monitored their arvdety levels. Scientists released
lemon ol vapors and reviewved the mice's anxiety lsvels. They found that
lemon cil reduced the anxiety levels of the mice. The il targets a spectic
@rea in the brain that is usually responsible for increased stress levals.

merk:

an advantage of something
scoet:

e way somethng smele
sore:

2 a1Vl aas of ghon that |5
nfeciod

anxisty disorder:
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1. Accordng to paragreph 1, which of the

following can be inferred about

aromatherapy’s history?

(A Some scientists in history have
goubled its bensefits,

B) It has bazsn in usa longer than
traditional medicine.

[C) It hed nol been researched until the
20" century.

D) Ancient societies widdy used
aromatherapy.

According to paragraph 2, what can be

inferred about the herpes simplex virus?

(A) Itis a dangarous rigk 1 most people's
health.

(B) It is more harmful than once thought,

(C) It does not affect people who use
aromatharapy.

(D) Scentists aren’t certain how essential
oils afect it,

Fill in the blanks to complete the summary.

Scentists have debated for a long time about the

show that the
found to clear a

3. What doas the author impéy about the mice

used to test the affects of aromatherapy?

(Al They were ssiected because they had
naturally high anxiety.

B} Essental oils were responsibe for
changes in thel brain chemistry

{C) Only mice that had been expossd to
lermons respondsad to the therapy.

(D) Their brains did Not contain the
receptor that controls stress,

_af aromatherapy. Studies

of essential oils affects the body physically. Scme ails have been
caused by a virus, A

of & study of oils used

on mice with anxieties was conducied. It found that the essential ofis were effective in reducing

arwiedies.
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Geology

Read the following passage. Then fill in the diagram with the information that you read. GZEXE

Many people think hurricanes and tormadoes are the most destructive
forces on Earth. Howaver, an equally destructve force 's at work every
day: mass wasting. Mass wasting, smply put, Is the movement of surface
rock and debiis down a slope as a result of gravity. It Is responsiole for
approximately $2 bilion worth of damage and cozens of deaths annusally
n the United States. Cverseas, catastrophes triggered by mass wasting
have kited ters to hundreds of thousands of pecple in secends,

One hazard that results from mass wasting is slope failure. This can
ocowr when a large mass of rock detaches from a mountaingioe and
slides down the slops, Such a collspse is often sudden and violent,
causing a great mass of loose debns to cascade downhill. In other
cases, an entre layer of the ground near a slope can detach and begin
siding down a mountainsiie. Due to heawy rainfal In Japan in 1899,
thirty-ona pecpie were kiled as a siope ocollapsed,

Landslides are anothar hazard that results from mass wasting. The
tachnical term for a landslide is sediment flow, which better descrines
the fluid nature of lls composition and movement, Most sediment flows
are a mixture of rock debris, water, and alr that fiow downhill, Someatimes
the movement is a scarcely noticeable centimeter per yeer. Other times,
a valathe mixture of haavy rains and loose sediments creates high velocity
mudsides reaching up to eighty kilometars per hour, A tropical storm in
1885 caused a mudside thal buried over 100 homes n Puerto Bico.

008 1RgMENts of rock and

o very damaging of
negative event

10 Mmaks saenufing happan
detaci:

o separate from sxmething
sediment:

e cegsited by wates
o e

sy bectiming dangerous

Mass Wasting
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1.

According to paragranh 2, which of the

folowing can be inferred about the dangers

posed by slope falure?

(A) It only poses risks to people living in
maountains.

(B] It poses less of a hazard than sediment
flow,

(C) 1t can destroy homes Som above o
below,

(O It s difficult to estimate the damage it
Can Caise.

According to paragraph 3, which of the

folowing can be inferred about mass

wasting?

(A Its effects are not always immediately
destructive,

(B) It Is kess costly overseas than in the U.S.

(C) More people die rom mass wasting
than other catasirophes.

(D} * causes more camage than huricanes

and tornadoes combined.

Fill in the blanks to complete the summary.

Mass wastingisa__

3. In paragraph 3, which of the folowing can

be inferred about mudsiides?

(A) They are the least dangerous form of
mass wastng.

(B) They oftan occur after storms.

(C) They are the most fluid form of
andslide.

@) They do nat cortaln debris.

that can be as destructive as a hurricane, Heawy rainfalis

may a landslide and kill many peopie in seconds. A large mass of rock can

hills and heavy tomrential rains are most

itself from a mountainside, causing devastation. Tropical arcas with numercus

. A mudslide can cover hundreds of

homes in & matter of seconds.
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Chapter 4

01 Astronomy

Read the following passage. Then fill in the diagram with the information that you read. GIIER

In 1877, Mars's orbit brought the planet closer to Earth than in cardier  orbi:
years. This allowed for many new discoveries. It was then, for example, mmmm:?""
that astronomers saw two moons oircling the plaret, But, of even more  misinterpretasion:
irterest, Giovanni Scriaparell, through telescopic obsarvalion, identified 3 o0 seertandrg of
lines on Mars, which he called canali--a discovery that changed human's groove:
belefs abou the solar system for a century. # Ins ot ima 9 surfece of
A simple Inguistic misnterpretation causad many 1o have false O
belefs about the carali. In ltalian, canali can mean ‘chameis” Of 1 make an svet ssam

"groovess. Records show that is all Schiaparoll meant. The linas he saw
on Mars wera ust surfaca grooves. However, the Italian word canali is

mas ecing than il ealy &
oumsT

a smell, green arés in a
very close to the English word “canal.” A canal is a man-made chamel desen, Usualy hevng a
for water. Newspapers sensationalized the stories around the word,  *0e of vetor
This, in turn, led some astronomers to draw up maps of Mars showing ...,' mprocsho

oases, lakes, and canals in the planat’s driest areas, Eventualy, many
apreed that there must be intelligent life on Mars, or such grand canals
Wwoud not exist.

This belef, however, was later disproved. With an incroase in
tachnclogical capabifity came new data. In the 1970s, a robotic
soacecralt fiew close 10 Mars. It took clear pictures of the planet, The
Martian “canals” proved to be nothing more than naturally cccuming
channels, perhaps formed &t a time when Mars had liquid water.

Martian Canals

Effect 1.

Efiect 2:

&
N
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1. Why coee the author bring up the two

moons of Mars in paragraph 17

(A To explain the importance of
Schiaparelli

(B) To give an example of & discovery

(C) To provide a defindtion for the word
canali

({0} To show how human understanding of
space changed

Why dose the author describe the simiarity

betwesn an ltalien and an English word in

paragraph 27

(A) To descrice how Mars canals were
named

(B) To suggest that Schiaparali made a
mistake

(C) To argue that the Tnes on Mars were
canals

) To show the originof a
msunderstanding

Fill in the blanks to complete the summary.

- T S P ———— > — — — " —— "} % " " — o

3. Why does the author mention technolegical

capability in the passage?

(A) To axplan how Mars was first axplored
(B) To suggest that a theory was correct

(C) To show how a thaory was disprovod
(D) To show the roke of robotic spacecraft

Astronomer Schispareli's term for ings he saw on Mars was cause for

Canali in talian means
began to

y however, it is closa to the word canal. Newspepers
the news of the discovery of canalsonMars, _ canals

en Mars led to the possibiiity of life on Mars. Modem technelogy has since disproved the idea

of water canals on Mars,
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Chapter 4

03 Economics

Read the following passage. Then fill in the diagram with the information that you read. EIEEID

Tulip Mania M

L

Fricas of goods rise or fall depending upen the good’s supply and
consumers' demand for it. If many people wanl 1o buy a scerce product,
its price will most likely risa. At imes, however the price of 2 good may
skyrocket to an unsustainabie level in an cconomic event called a
“bubtie.” History reveals that the price of a very unlikely good~—the
simple tulp—soarad, actualy resulting in a bubble, and then plunged
shortly thereafter.

In 17% century Holland, tulip bulbs wera valuable investments. Not
only was there a limited supply of them, but many pscpls wanted them.
In fact, by 1823, a tulip bulo could cost as much as 1000 florins, the
Dutch unit of currancy at the time. Yet the average yearly Income was a
mere 150 fiorins. By 1635, a single bulb scld for 8,000 floring. The price
had peaxed.

By 1637, tulip sefers coculd no longer get such inflated prices,
Buyers did not feel tulips were a good investment. Thus, no one was
interested in paying such prices for a tulip bulb. As a resuli, the bubble
popped, and the price of tulip bulbs fell repidly. Mary people lost all their
moensy as a result of this crash, Holland’s economy was crippled for
many yaars after the wiip craze.

scarce:

zhort In supoly; hend 1o fnd
skyrocket:

10 rigo quckly 1o a very high
evel

tulip:

a cobrul fower that gows
turing the spring

plunge:

to fal quickly oe sudkdenty
crippled:

vary padly camaged

Tulip Mania
Stage 1: Stage 2:
|
Description: Descnption:
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1. In peragraph 1, why does the author 3. Why does the author indude tha average
mention supply and demand? amual 1620's Dutch salary?
(A) To explain the cause of a bubble (&) To sucgest that most pecple could
(B) To show its affect on prices afford tulips
(C) To clarify how supply functions B) To argue that ulips were underpriced
D} To descrbe how to limit fising prices qoods
(C) To offer a basis of comparnson for tulip
prices
2. Why does ths author use the word unliksly (D) To expiain the cause of the tulip's nsing
vhen ntroducing the tlip? pricas
(Al The tulip was an itam that was hard to
find in Holland.
(8) 1 8 surprising that the tulip would be
desired by consumers.
(C) Tulips did not ikely have an effect upon
worddwide econemigs.

(0) The tulip deoes not seem mportant
enough fo cause a bubble.

Fill in the blanks to complete the summary.

At one time, tulps were . In Holland, making them a valusble investment.
The demand for tuip bulbs was high, which made the cost . When buyers
weould not pay the inflated prices, the market took a This eventualy

Holland's economy for many years after the tulip craze. It is caled a “bubbls”
whsn prices reach an unsustainable economic level.
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Sociology
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Read the following passage. Then fill in the diagram with the information that you read. D

' A new field of study caliod sociology began durng the late 19%  sociclogy:
contury. Sclentsts were not sure how to Study . AS @ resut, tWo ey
philcscphies appeared. PostiMsm and antl-posilivism ware gedled  cery oot fom
during the same pedod, Stil, the phiksophies are different In several S oEess

relate:
e %o fxd s correctun
Each has distinct views about whether sociclegy i & stionco ar  bebaeen two birgs

not. Positvsts beliave that sociology 18 Just like other sclences. They ™™=
view society as an extension of the natural world, For example, ey pee
believe that societies ara able to avove, lust as animds do, They relate  reveat
the prograss of societics 1o the evolution of anmals. Meanwhile, anti- 10 51w G mek@ kol
pesitivists think that socldegy ls not a sclence. For them, soclety Is
separate from the natural world because it has jeatures likn cultural
nams and traditions. Those tralts are not found in nature.

Each philosophy is also diffarant I its methods. Positivists televe
that soclety can oe siuded the same way that othar sciencas am
studied. Thay only vaue knowledge that can be peoven. Tharefors, they
encourage the usa of the scientiic method. In the process, data is
callectec by conducting experiments. On the other hand, anti-positivists
think the sclentffic methed can't revea anything about sccieties. Instead,
thay try to gather nfarmation basoad on cbservations and interviews,

c . L}
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1. The word field in the passage s closest in

3. The word encourage in the passage &

3
:
i
:
8

avolution, Anti-posithism bebeves the

meaning 10 closest in meaning to
(A lard (A support
B kird (B aveid
(C) subject (C) comicet
{O} book (D} oppose
The word exiension in the passags is
clossst m meaning to
(&) offer
B} division
{C) example
(D) addition
Fill in the blanks to complete the summary.
Two philosophies were created with _ views regarding the fisld of sociology.
Postmsts regard sociokgy as a scence and soclotal progress to animals'

and traditions of society are not found in

natura, The anti-positivists believs that scientific methods do not _anything
about societies, Positivists colect data and conduct experiments and, anti-positivists gather

information through chsenation,
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Chapter 5

06 Literature

Read the following passage. Then fill in the diagram with the information that you read. 2SI

ke

Literature that is written within the same span of fime & groupxsd nto
categories called Herary perods. Augustan Bterature is a perod in
Engish iterature, It incdudes all of the novels, essays, and poems written
between 1700 and 1740. The perod gets KS name from Augustus
Cassar, It was named after the ancient Roman emperor because the
kKing of BEngland at tha time waniad tc emuiate him. Howewer, #t is
appropriate because the fiterature of the paricd also shared many
characteristics with that writen durhg Augustus’s rign.

One example of Classical influence on Augustan itarature is the use
of safire, which was employed fraqguently in Classical literaturs, Sitire
vaes sarcasm and is usually hurmorous, Nonetheless, the function of it is
10 censurs Or mock somecne. ronically, In ancient Rome, wniters used
1 to ariticize the policies of Augustus. In Augustan literature, sathes were
very popular. Augustan writers like Tom Brown and Jonathan Swift wrote
meany poems and stones that were satidcal. Ona ¢f the most famous
gatras vritten during the perlod was Swift's The Saitle of the Books. In
the story, the books in a library come 10 life and begn 1o fight with aach
other. The books ware frying to sattle argumeants between modem and
anciant intelostuals. Modem intallootuals clamed that their knowladge
ned surpassed that of the ancients. The story Is meart 10 maxe fun of
intellectusals who take themsaives too sanously. Svdlt criticzes them for
Being teo prideful. He thinks it is disrespoctiul for them to believe that
the work of ancients is infericr.

Anather Classical muence on Augustan literature 15 observed In
poetry. Greek poets used a specific kind of thythm in thek poetry. In
English, the thythm is calied “ramic verse.” Tha Grask post Homer
wrote the famous epic poem Oobssey usng this fythm schame. Durng
the Augustan period, poets began to usa haroic verse onea again in thelr
wirrk, In fact, the most well-known poat of the time, Alexander Pops,
wes an expert of using the rhythm. He used it whan writing some of his
most famoue poems, including The Duncéad.

——— 9§ chapter 3
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Definition:
v N
Classicd Influence 1: Classical Influence 2:
il l
Example: Example:
| .

1. The word emwulate In the passage 1S closest 3. The word schieme In the passage is closest

in meaning 1o In meaning to
(N admire (&) method
(8} conquer B sound
(C) imitate {C plan
(D) undo (0§ influence

2. The word censure In the passage is closast
in meaning 1o
(A) crilicize
(B) praise
{C} block
D) silence

Fill in the blanks to complete the summary.

———— R

Authors frequently used to criticize the policies of nuers, During the Augustan
period, books mockedthe  for being too prideful, Modern intellects believed
ancientworkswere 10 the Classical style of that time. One of the most nolable

— ___ poems using “heroic voice® is Homer's Odyssey. The Augustan literary perod
included novels, books of satie, assays, and poetry
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Chapter 6

0B Advertising

Read the following passage. Then fill in the diagram with the information that you read. EZESID

Liberation Marketing

During the 18€0s, a new strategy caled liberation marketing was =~ masses
craated. Liberation markating attiempted to rewersa the fealing of many mm‘m"
consumers who felt that advertisements were degrading. Many embrace:
advertisements seemed to treat average consumers as if they were ™ comekety socept
stupid- slogan:

Unlke previous strategies, liberation marketing focuses not on 2 short phees usad to
ideals but rather on the qualities possessed by the masses. f embraces e Smelhing
people’s Nlaws instead of expecling a consumer 10 believe that every  uanteligert; nat tending
person is perfect. For example, previous advertising models focused on ¥ sbout one's acies
the notion of ideal beauty; a typa of beauty that very few possess. One
modem adverticoment for soap reversed this strategy. It features a
picture of a normal woman, not a model, The headline above the picture
says, “There are 3 billion women who don't look like supermodels and
only eight who do.” The slogan implies that people should not try fo look
like suparmodels, Thay should be happy with themselves, Yet, at the
same time, the adveriisement promotes the company's product.

in addition, Iperation marketing focuses on tha individuality
possessed by all pecple. Previous concepts of advertising traated peaple
like mindless masses walching telenvision. One of the most famous
instancaes of this comes from a commercial for a computer in the 1980s.
it iterally depicted the mindiess masses; the commercial began with
hundreds of people walching a giant screen. Al ane point, a woman
runs ¥om the back of the room, destroyng the screen with & huge hammer.

A line of text then describes how the company's new computer will fres
peogpie from the sameness depicted in the commercial,
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Libaration Marketing

Pont 1: Point 2:
{ I
Description: Description:
|
$ 1!
Example: Example
1. The word it in paragraph 2 refers to 3. Theword il in paragraph 3 refers to
A type of beauty (A) aovertising
B) agvertsement (B} television
(C) scap (C) commercal
) strategy (D) computer

2. The word they in the passape refers to
[A) expectations
[B) women
(C) peopie
(D) supermedels

Fill in the blanks to complete the summary.

This passage is about a kind of marketing from the 1990s called “liberetion marketing.”
The idea was to focus on the gualitiss of the . That meant seeing pacple as
they really were instead of tying o make evenyoneperfect. It the flaws of
everyday pecple. Instead of treating peopleas It made everyone feel special,

Tre______ of these advertisements made paople feel that they didn't have to reach
an idsal.




Chapter 6

)Y Environmental Science

Read the following passage. Then fill in the diagram with the information that you read.

In recent years, pacpe have become aware of the nzgative ultimatedy:
consequences of pollution, In respense to the aasociated probleme,
mary companies have adopted new palicies In order to Nalp prolect the an amea n South Amaics
environment. Automobile manufacturers have improved car design to ¥ 3R preen trees and
decreasa emissions of harmiu gases, Futhermore, many companies g,
have begun to kok for other sources of energy. They na longer want to & shanaw
um coal for energy. However, some sciertsts have recenty Suggested that mmmm
cean ar can achualy have more negative consequences than polutants,  causing ceath
Theyy think that reduced polutionin Noeth Amedca can set aserlec of events  project: ‘
nto motion that would uitimately kill the Amazen rairfcrest. :ﬂmmm

The reduction of emissions from burming coal affects temperatures. & known

Most of the gases released when coal is bumed are harmiul to tha
environment. However, buming coal produces a gas that is important in
controfing the temperature on the Earth, When i1 is bumed, sulphate
asrosd & releasad, Sulphate aerosol remains n 1he lower part of the
atmosphere. it reflects heat energy from the sun onto nearby clouds.
Clouds become brighter from the reflected sun rays. Mora importantly,
the surface termperatures in arcas with sulphate aercsol are cocler than
gress without sulohate aerosos In the past, the presence of sJlphate
aeroscl in North America kept the surface from becoming oo warm.
This included the bodies of water near the continert, such as the Atlantic
- Ocean, Without suphate aerosol, however, surface temperatires are
. rapidly changing.

The shift of water temperature affects weather patterns. Rain tsnds
1o form over bodias of warm water. The reducion of sulphate asoso!
emissions bas changed the temperature of the water in the Norn
Aflantic Ocean, Without the gas, the sun's rays hit the water directly
instead of being bounced off to the clouds. As tha water in tha North
Atlantic Ocean begins to heat Lp, rain falls farther north than it did in the
past. Meanwhie, the areas near the Amazon receive koss rainfall. The
change In climate is fatal to the rainforest. in 2005, a severe drougnt
struck the Amazan ranforest. Scientists beliave that the drought was
cawsed by recuced emissions in North Amedica. Rather than raining in
the Amazon, the rain moved farther north. Scientists fear that ¥ the
pattern of warming war to continue, arge porticns of the Amazon coukd
be drougnt-stricken. They project that by 2030 the rainforest could dry
up completely.
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Poltion it the Amazon
. Step 1: Step 2: j Step 3
\
— —

I

I

|

= J .
. The word they in paragraph 1 refers 1o 3. The word t in paragraph 3 refers to

(A) companes (A temperature
(B) scentists B} water
(C) consequences (C) oceen
(C) pohutants D) rain
The word it in paragraph 2 refers to
(A envirenment
(B) coei
C) ges
{©) Earth

Fill in the blanks to complete the summary.

Tha passage claims that burning less coal may be bad for the . Buming
coal reieases a gas that helps control tlemperalures because it cools the surface of the Earth,
Since less ccal is bumed thess cays, there has been a of temperatures,
Weather has aiso changed, and less rain falls In the Amazon. This could be =
and the rainforests may die, Some scientists project that rainforests could be
tried up by 2060.
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Fine Arts

Read the following passage. Then fill in the diagram with the information that you read. D

Art in African Cultures -

Art has many roles in the daily lives of pecple from the past and
present. It can be used to ngpire and to provoke thought. Moreover, in
many culturss, ant was used 10 show who held political power, Sevaral
Alrican cultures used art to indicate power.

Much of the artwork of the Ashanti pecpie of West Africa was
reserved for the exclusive use of leaders. Any artwork made of gold,
such as jewery, could cnly be used by the ruler. Additionally, the ruler
hac a special staff that was mace of goid and wood. Gold was of
particular importance to Ashanti ant bacause it was the main sourcs of
wealth for the tribe, which, in tumn, gave it much mora trading power,

The Anang Ititio peoples of the southwesiern region of Nigera also
used art to demonstrate power. The trbe was not ruled by a single
leader. Instead, the people were ruled by a council of men called
Ekpo. Ekpo donned specal masks when they enforcad their ews.
Tha maeks, which were large and fightening, functicned as uniforms for
the Expo; those who wore them were not seen as indviduals but &s
representatives of the tribe,
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1.  Which cf the following best expresses the

essential information in the highlighted

santence in paragraph 27 Incorrect answey

choices change the meaning in important
ways or laave out egsantial information.

(A} The Ashanti people were more
powerful than other tribes bacause they
thought that gold was important.

(B) Tribes with the mast gold had the most
power in trade rédationships, such as
the Ashanti,

(C] The Ashantl tribe became wealthy
tecause they wera powerful in global
trade,

(D] The Ashanti tribe valued gold as a
source of their wealth and a symbol of
power in trade.

2. Which af the following best expresses the

essential information n the highlighted
sentence in paragraph 37 ncomact answer
cholces change the meaning in important
ways or leave out assantial information.
(A) The Ekpo were required to use masks
as part of their uniform for the group,
(B The masks wers like uniforms because
they showad that whoevar wore them
acted as a representative for the tribe.
(CI The masks were made te look

frightening In crder 10 better function as

unifcrms for the Ekpo.

(D} The Ekpo wore the large masks only
when reprasenting the iribe in front of
members of other tribes.

Fill in the blanks to complete the summary.

This passage looks ai how art has been usad to show power in African culture, Whis art is
often used to nspire people and thought, it can be used to display poktical
strength. The Ashanti people of West Africa works of art for use by their
leaders, Thelr ruler caried a special made of gold and wood. In Nigsria, there
are people ruled oy a council of man called Bxpo. They masks to show thair

oower.
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Chapter 7

02 Environmental Science

Read the following passage. Then fill in the diagram with the information that you read. EZXEIB

B

Advantages of Urban Forests

The size of many abes is increasing. In many places, the growth of
aities has meant the destruction of forests; however, in others, plannars
have recognized the importance of maintaining nature. Many cities are
nome to urban forests, or coliections of rees thak grow within a city or
near heavily popuated areas. Urban forests provide a number of bensfits,

Scientists have learned that urban forasts can help reduce polution
in cties. Through a natural process, the leaves of a tree absorb harmiful
gasss from the atmosphere. According 10 ¢ne study, a sngle tre can
absorb about thirtean tons of carbon dioxide per year. Scentsts have
aiso found that tress are capebie of remaoving many other polutants that are
beleved to be responsble for giobal wanring, such as carbon monoxide
and ozone.

Urban forests are also beneficial to cities because they help ragulate
temperatures, The concrete used to construct buildngs and sidewalks
in ciies soak up heat from the sun. |t can be up to nine degrecs warmaor
in cities than in nearby rural areas. However, tress halp cool down urban
areas by providing shade. During the winter, buildings are shreided from
figid blasts of air by tress. As a result, buildings do not become as
cold,
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1. Which of the folowing best expresses the

essentidl information in the highlighted
sentence n paragraph 17 Incorrect answer
cholces change the meaning n imporant
vays or leave out essential intormation.

(A) City planners can help reduce the
destruction of forests by decouragng
the growth of cities.

(8} Many city planners understand that
nature s often harmed by construction
within cities.

(C) Nature is recognized as an mportant
factor in the growth and maintenance
of cities.

(D) Destruction of forests can be stopped
In cities by city planners.

2, Which of the following best expresses the

essential nformation in the highlighted

sentencs in paragraph 22 Incorrect answer

choices change the meaning In important
ways or leave out essential information,

(A) Trees can affect the levals of carbon
monoxide N an area, leading to giobal
warming.

(B] Trees are abie 10 remove carbon
mongxde and ozone from the
atmospheres but are responsible for
clobal warming.

(C) Scientists think that trees can be used
to find a fnk between pollutants and
dgobal warming.

() Trees can be used to reduce global

warming by reducing harmful pollutants
from the atmosphere,

Fill in the blanks to complete the summary.

The passage looks at the advantages of having urban forests n cities. Urban forests are

large groups of tress that grow in cities. Having thess trees in ___areas can do a

lot of geod for the environment, Trees remove harmiul such as carbon dioxide
from the air. They aso help o temperatures in cites, Trees provide shade in
summar, and in winter, they shiald buikdings from blasts of cold air.
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Chapter 8

ONB Anthropology

Read the following passage. Then fill in the diagram with the information that you read. SESTEIB

The Nazca Lines - 3

Located in Peru, the Nazcz Lines ane a series of huge sketches drawn
in the desert. @ A) Thay are viewakle cnly from the sky. B B) For years,
researchers have puzzied over the purpose and orians of these pictures,
B ) However, ressarchers have formulaied several theories. W D)

Marwy ressarchers beleve that the imeges were created by the Nazca
people 28 art. @ A Thay then viewed tha massve skatches fraom the ar.
They did this both 1o aid n the ceation of Bie plctues as wel & ©
appreciate their art. @ B) In 1877, Jdm Woodman suggested that the
Nazea people must have usad arcraft—likely hot air balibons—to viewi the
drawings from the ar. @ C) Woodman and his team even constructed a
balocn cut of materials that woukd have besn avaiieble to the Nazca
pecpis. @ 0)

Other researchers suggest that the lines were not meant 1o be viewed
oy humans. € A) Many of the images depicting animals and figures were
found at other refigious sites and upon Nazca pottery. € B) Thus, it is
Daleved that the Nazea Lines were usad as religicus sites for caremaonies
ard rituds, € C) In addition, historicad data suggests that the Nazea
poople worshipped the land. @ D) This implies that thar drawings may
have besn a method of marking areas as sacred.
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1. Look at the four squares [m] that indcais 3. Lock al the four diamonds (@] that
where the folowing sentence could be indicatz where the following sentence coud
added to the passage. ba adoed to the passags
These mysteries are difficuit to solve, Instead, they were made for the gods
however, as little evidence remains to that the Nazca people believed in.
explain the purpose of the lines. Where would the sentence best fit?
Where would the sentence bagt fit? (A) First diamaonad
(&) First square (B) Second diamond
(B] Second square (C) Third diamond
(C) Thrd square (D) Fourth diamond
0) Fourth square

2. Look at the four arcies [e)] that
indicate where the following santenca
could be added to the passage.
This experiment was a success and
sarved to support Woodman's theory.

Whars woudd the sentencs best fit?
(A) First circle

(B) Sacond circie

(C) Third circle

(D) Fourth cirde

Fill in the blanks to complete the summary,

The Nazca Lines are huge found on the desert of Peru, Ressarchers
(P ouer thase pictures for many years. They
theores abcut them. Some scientists believe they are art works that should be lcoked at from
the air. Others believe the drawings are used to mark areas that were 10

the Nazca peogie. The images depict animais and figures tound at other reigious stes.
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Geology

Read the following passage, Then fill in the diagram with the information that you read. §ZZEED

Aelens Erug

In 1980, hie Mount St Hekens wolcarn, ocated in the state of
Weshington, USA, euptad, B A) It was the first eruption of the volcano
n over 100 years, B B) The destructive effects of the lava and ash upon
the ervironment were sigrificant. B C) However, the eruption also had
& number of unforeseen effects upon the arca, B D) Many of these
effects ware ecanomic, affecting the aea’s transportation systems and
tourism ndustry,

Tre ash from the vokcano’s expiosion afiected transpertation across
the state of Washington. ® A) Directly sfter the explosion, driving was
amost Impossitla. ® B) The presence of ash in the air made visibiity
amost zero. @ C) Thus, drivers could not use the ads, @ D) Cre major
nterstate N Washington remained ciosed for nearly two weeks, Arports
wers also affected. Over 1,000 fiahis wera cancsied after airports were
forced to ciose, The cost of clearing the asn also harmed many airports
which were obiigated to fnancally ad the deanup.

Washington's economy was also hurt by the rducion in tourism, € A)
Of course tourism declinzd in the area of Mount St. Helens after the
eruption. @ B) Hovever, even many social gatherings. business mestings,
and conventions in the state of Washington were canceled o moved 1o
other cites, € C) Many local businesses faced lower profis after the
eruption asa result of these cencelations. € D)
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1. Look at the four squares [m) that incicate

where the follcwing sentence could be
ajded o the passage,

The cost of this damage was over one
billion dollars.

Whera would the sentances best fit?

(A) Frst square
(B) Second square
{C) Third square
{D) Fourth square

Lock at the four circles (@] that

indicata whera tha following santenca
could be added to the passage.

In fact, It is estimated that 1.8 million
cubic meters of ash were cleared from
roads and airports in the aftermath of
the eruption.

Where would the sentence best fi1?

(A) First crcle

(B) Sacond circle

(C) Third circle

(D) Fourth circle

Fill in the blanks to complete the summary.

3. Look at the four diamonds (@] that

indicate whese the following sentencz could
be added to the passage.

Thus, money that would have been
generated by these assemblies was
lost.

Where wouki the santence best it7?

(A) First diamond
(B) Second diamond
(C) Third diamond
(D) Fourth diamond

Maount St. Helens enupted in Washington in 1980 and causad many

protiems. The expiosion affected transponiation n the area very badly, There was so much ash

in the ar that
cancal flights. Later, the airports were

wag aimost zero. Roads clesed dovn, and airports had to

o give monsy to clean up the

arsa. The airponts lost a lot of morey, and the area had a big

People were scared of the volcana,
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Chapter 9

Read the following passage. Then fill in the diagram with the information that you read. EZIER

M

An unguiate Is a unique type of mammal that carres s weight on mm —
the tips of its toes. Becauss of this, most unguiates have evoved NOOVES ;g etes foct
to camy their weight. Catlle, horses, pigs, and sheep ae all unguates.  maes:
Although thesr fest may appear somewhat similar, there are two types of :wmz ool
ungulates that are quite differant from aach another. suiled:

Odd-toed ungulates tend to be large animals such as horses and ¥ for a perfisulr situation
rhinocers, which carry all of thair weight on one tos. The 108 foms into mmw
a single hoof on sach foot that can cary the animal's large mass. The  pasitice 30 5 10 v
large hooves of a horse, for nstance, are suiled lo carry s extreme :':m

weight, In addtion to being strong. the hooves of cdd-tced ungulates
tend to ba gulie wide as well. The wida hooef helps tham balance thalr
large bodies.

Even-nad unguiates tend 1o be smaller animals such as antalopes and
pigs. Their weight is bome by two loes an each fool. Each weight-bearng
1oe has exolved its own hoof, As such, they have “spit™ hooves that allow
them o mose quicky and maintan good baance. Unlike e hooves of
oda-toed unguites, sven-ined unguiEes” hoovas are dasignad foe mobiity,
not for hading large amounis of weight.

the ity ta rmove sasly

Ungulates

Definition: Type 1:

\ ‘ Type 2:
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1. Anintroductary santence for a bret summary of the passage is provided balow. Complete
the summary by salecting the TWO answer choices that express the most important ideas in the
passage. Some sentences do not balong in the surmmary beceuse they express ideas that are
not preserited i the passage o ae miror ideas in tha passage. This question is worth 2 points.

The passage describes the different types of ungulates.
r

Answer Choices

(N Even-toed ungulates tend to ba larger animals whose spit hooves alow them 1o balance
thelr large massas.
(B] The spiit hooves af even-toed ungulates offer tham a goad degree of mabilty and an not

dasigned to bear heavy weight.
(C) The solid hooves of odd-toed unauates ars sultad to carry thelr large masses and offer good
balarnea.

Oy Antalopes, pigs, horses, and cattle are idantified as ungulates because of their hoofed feet,

Fill in the blanks to complete the summary.

The passage discusses mammals caled ungulates that cary their weight on their
. There ars two types of ungulates. Odd-toed unguiates carry their large
masses on hooves that are not spit. The large hoowves of a horse, for exampe, are
to carry its extrame weight, Odd-toed unguiales also have wide hooves,
which heip them — their large bodes. Even-toed unguiatas hava "split”
hooves which are designed for , not for holding large armounts of weight,
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Chapter 9

WPA Health

Read the following passage. Then fill in the diagram with the information that you read. (EED

The Health Benefits of Bave

New research has dscovered that caffeing and tea may have incredible
health berefits. it they are consumed reguiarty, they can help provent and
fight a numbsr of common diseases.

Calfeine was found 1o help prayvent multiple sclerosis (MS). MS is a
diseasz thal causes 8 parsons immune system to attack the fissue
around rene fibers. MS can cause loss of feeling in parts of tho body
and even the loss of vision. Caffeing, however, creates a protective layer
around a parson’s nan/ous system. As a resull, the caffenc acts as a
barrier, preventing the mmune system from damagirg nerve celis. Mice
thal ware given dosas of caflaine were 75 percant less Bikely to get MS,
In cases where mice dd get MS, their cases were less severa.

Green tea is aready wel known for its antioxidants, which have been
Inked with iowser rates of cancer, However, new findings suggest that
both black and green tea may also be baneficial for another reason. Teag
have natural chemicals, caled catechins, which are believed 10 have
of the catechins in tea. It is unclear f cateching can be directly injected
inta tha biody and used without being digested, Still, even the amounts
of cateching in tea can provide heeith bersfits. In cne study of the Kuna
pecpie native 10 Panama, the consumption of teas with catechins led
the Kuna people 10 have less than a 10 percent incidence of stroke,
heart falure. cancar, and diabetes.
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1. Anintroductory sentence for a bdef summary of the passage is provided below. Complsts
the surnmary by selecting the TWO answer choices that exprass the moat important ideas in the

passage. Some sentences do not belong in the summary because they express Ideas thal 2o
nat prasentad Inhe passage of are minor «Ksas Inthe passage. This question is worth 2 points.

The passage discusses two different beverages that may have health benefits.

Answer Choices

(&) Cartain 10as contain cataching, which may helo fight certain types of cancer.
B Ceffsine protects the body's nervous systam against MS by craating a barrier,

{C) Green tea contains antioxidants, which have been shown to reduce one's chances of getting

cancer.
{C) Catachins may be more sffective at fighting some types of cancer than others.

Fill in the blanks to complete the summary.

The passage expiains that ang tea have many health bensfts,
Ca'faine makes a layer around a parson's nanvous system, This helps to
prevent multiple sclercsis (MS). Mice given of caffeine werg 75 percent
lass likely to get MS. Teas contain chemicals called cateching which may help fight cancer. Even
though the . procass breaks down many cateching, drirking tea is still
healthy. The Kuna people, who dink tea with catechins, have Jess than a 10 percent Incidence
of stroke.
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History

Inca and Aztec Civilization

Read the following passage. Then fill in the diagram with the information that you read. SIS

Eoth lecated In the Americas, the Inca and Aztec civiizations were
quite similar, They were g0 similar, 1 fact, thal even some scholars
struggle to ramember the difference between them. However, two man
distinctions help ssparate the two cutures.

The main difference betwesn the Inca and Aztec chiizations is their
gacgraphical locations. The Incan Empire extenced across much of
South America. Thoss areas have become Peru, Argectina, and othar
nearby countries. The Aztec Empire, on the other hand, was beated
nearly 1,600 kiometers to the north, The empire stretehed across much
of modern-day Mexico, The Aztec cagital, Tanachtitian, has now become
Meaxdco City.

The deveicpment of the empires akso differed. In the case of the
Incas, the civiization never had he chance 1o fuly devdlop into a
unified empire. They began as a small trib2 and spread quickly across
Seuth America. Over 700 difisrent languages were spoken among the
many smalar groups of the Incan Empire. These groups never had a
chance to bacome a single group, The empire was destroyed a shart
ninety-six years after & bagan, The Aztecs, however, enjoyed a prosperous
empire for about 150 years. They even managad te buld educational
systems that requirsd chikien —even gils—10 receive education beginning
ata young age.
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Directions: Complate the table by matching the phrases balow. Salect the apprograts phrases

::
fron the answer chaices and match them 1o the cwilizaton to which they relate. TWO of the E
answer choices will NOT be used. This question s worth 3 points. g
hcas vs. Aztecs Stataments 3
=
. 3
Inca Civlization 3
' ]
sl =
=
e i"
Aztec Civilization .
. lé
‘4
g

Answer Choices

A) required girls to atterd schod! al a young age
(B) deveioped over 900 new languages

{C) was destroyed before it fully developed

D} stretched across much of South America

{F) had 3s capital located in modern Mexico City
{F) had an empire spanning 1600 kiometers
(G) thrived for nearly 150 years

Fill in the blanks to complete the summary.
The passage l0oks at between the Incas and Aztec people. The man

cnos ara that thay fved in different places. The Incas lived across much of South Arrerica, and

they naver had a =— empie like the Aztecs. They began as a smal

and had many groups. They spoka over 700 difierent languages. The

Artecs lived across much of modem-day Mexico, They were very for

more than 180 years.
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Chapter 10

Ayurveds is an ancient form of medicine. It originated thousands of w?w:kh
yoars ago in India. The system is stil practiced by many pecplein India oy o e

and Sri Lanka, Unlike western medical practices, Avurveda seeks toheal  erucisl:
rot orly the body but the mind and the spirit as well. Several factors  MeS258a1. Wy mpertent
Fave been particularty important 10 rew deveopments in Ayurveda, % it down hilGrralion
Schools called gurukuls were crucial to the development of the  Buddhism:
practice. Ayurvedic meadicine was created long before there was a mdwﬁmﬁamh
aystem of writing 1 Incia. Thus, practitioners of Ayurvada had no way of
recording their discoveries. Howewver, at the gurukuls, information was %o officialy staie el
passad cown cealy from teacher 10 Student over time. As & rasull, the  MmSMna cannatba deee
secrets of Ayurveda were presenved untl a wilting system was invented,
Buddhism was also imiportant 10 s davelopment, Whie at war, the
Indian emperor came nto contact with Budshism. Deeply affected by
the teachings, the emperor prohitited bioodshed In the kingdom in 250
BCE. Pracfitioners of the medicine were foroed to stop using surgery
for a brief period of fime as a result. During that time, they came up
with new drugs and new healing methods. Combined with surgical
techniques developed after the ban was #fted, it has become one of the
most advancad forms of fraditional medicne in the world,

The Develocment of Ayuredic Mediine
Cause 1! Effect;
—
Cause 2: :—_Enect: o
—p |
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Directions: Complete the table by matching the phrases below. Saiect the appropriate phrases
from the answer choices and match them 1o tha factors by which they were influencad. TWO of
the answer choicgs wal NOT bo used. This question is worth 3 points.

Factors Important to the

Development of Ayurveda Statements

Gurukod .

Buddhism

Answer Choices

{A) caused the Indisn emperor 10 prohibit surgeres

{B) helped spread information vathout a witing system

(C) increased knowdedge of new medicines

[O) 'ed to the develooment of naw surgical techniques

(€ spread the secrets of Ayunvada to new countries

(FI pessed knowdedge orally to new students

(G) allowed Ayurveda to be remembered to the present day

Fill in the blanks to complete the summary.

Ayurveda is a very old form of madicine still in india and Sri Lanka.
Schools caled gunikuls wera 10 its developrment. These people had no
way of their discoveries. Information was passad down orally between

teachers and students. Buddhism also helped Ayurveda, It made the empercr
_ bloodshad in his kingdom. That meant no ene did surgery for a long
fime. Instead, they found new ways of healing the sick.
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